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Time : 3 hours ] [ Maximum Marks : 80
wgergof FIder () YE-9 97 Gedi § fawifea #—(=1), (F) @@ (W) |
Important Instructions : Question paper is divided in three Sections—(A), (B)
and (C).
(i) WUE (37) & Ot WA T w1 Sfvard ¥
All questions of Section (A) are compulsory.
(ii) @vE () & () 4 7 9 Wt ©& @ v w2
Solve any one Section from Sections (B) and (O).
(iv) 7% TT & Wit I F IN @ @ WH | R a
|rfEe |
Write all answers of each section in same place.
(v) stfoman w=-dm w1 seeE ok {ife wei & fag #

Maximum word-limit is only for the theoretical questions
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YUY ) / Section-(A)

At wul aur Pl & fg drartE
(Partnership Firms and Company Accounting)

;WS- () F wwt w wfrEr ) 9 wEE 1 Q6 a% Sifeery WA 9
¥ vR% W W 1 3w Praifea &1 wR® T & I 7 W 91 7 A F A

¢ All questions of Section-(A) are compulsory. Question Nos. 1 to 6 are very

short answer type questions carrying 1 mark each. Answer these questions

in / word or / sentence and also include objective type questions.

(A) 3rqd wofa
() ¥ ? w1 7

(b) intangible assets

(d) None of these

(® &Nl
() w97 &1 g1

() on profit

(1]

(1

(d) on dissolution of firm

fder
¢ au aggfre we o £

Instruction
Tgfre v -
Objective type questions :
-1 wfat .

(37) 7d wafa

(@) =] |@efa

Goodwill is :

(a) tangible assets

(c) current assets
-2 yHrmram T

(3 fagaa w

(7)) wEaw

Revaluation A/c is made :

(a) on dissolution

(c) on admission
NM-43B
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(31

9 A T}

(-37) =afeaTra @ () arafss @

() T (3) v & Fé e (1]
Share Application A/c is a :

(a) Personal A/c (h) RealA/c

(¢) Nominal A/c (d) None of these

TR S ¥ TR # =<y wen e v 42 (1]
How many minimum members needed in the partnership business?

wofaal v il ) Taetg gea ey @ 3§ faen s 2 [1]

On which account the book value of assets and liabilities are written?

ot w1 @ B R 2 (1]

Who is the owner of a company?

. ¥ W 7 ¥ 10 9% oy I we § 1| el A W 3 ofe Fruifa 13w
F fusan wee-dim 50 wix ¥

I
Instruction : Question Nos. 7 to 10 are short answer type questions. Each question

carries 3 marks. Maximum word-limit of answer is 50 words.

g 7 S A 3 2 100 A 10000 WA S F1 i T 10 W A
ﬂﬁwmﬁrﬁﬁﬁmmﬁﬁaﬁwwﬁmﬁﬂmwww
wre € 7 | e dht wafeat S (3]
A to Z Company issued 10000 equity shares of T 100 each at a
premium of ¥ 10 each. The full amount including premium was

received along with the application. Give necessary Journal Entries.

o T=d 3 T 10 9@ 20000 THA 3ty s § Frifia few) w0t af
Wwﬁfr{lmﬂﬁgﬁﬁﬁﬁﬁﬁwiﬁml 3]
Ranjana Traders issued to the public 20000 equity shares of ¥ 10 each.
All amounts have been received in lump-sum. Pass Journal Entries

in the books of company.
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der

Instruction

-1

We-12

[4]

T FEE A T 72,000 Ye9 F WA 79 F | 79 YA A L 100 A

qufes o i 10% a2 W Fnffia feg | deft wfafteal Hifad |

(3]

A company purchased assets worth ¥ 72,000. It issued fully paid-up

equity shares of 100 each at 10% discount. Give Journal Entries.

EAfa & qediend #1 fafual fafee (#¢ g |

Write the methods of valuation of goodwill (any mwo).

[1%+12=3]

: WY FWE 11 T 12 7Y 3909 791 ¥ | y@F g W 4 i Fuifa &1 oo

W W 3Tiafis fawew €

carries 4 marks and has internal choice.

ifa I4fa & FE | s fafag

Write any four causes of creation of goodwill.
EqT / OR

ot we gfiadeie oit er ¥ + 9 i@ fafa
Distinguish between Fixed Capital and Fluctuating Capital Account
(any four).

el ot orelid TF W A AT F WERR ¥ T Joit ww
2 20,000 31 T 16,000 ¥ | ¥H WA ATE T 600 A T 1 Ay 2
of T 630 e s e e & 1 9 = 61 ) S v
T 12,000 91| STy-#117 TAISA @ 99 |

Alok and Ashok are equal partners in a firm. Their capitals are

220,000 and ® 16,000 respectively. Ashok is entitled to get salary of

¥ 600 per month. Interest on capital is 6% p-a. The profit of the f
m

before the above adjustment was € 12,000, Prepare Prof

, t and
Adjustment Account. Loss

AL ATR

: Question Nos. 11 and 12 are short answer type questions. Each question

[1x4=4]

(4]



[5]

37eraT / OR

% aurd st fafmafea It 2 1,00,000 } | 39 TR F HTEE F 10%
g 3 % | froct 9 oWl = oftea @y T 12,000 ¥ | TSR e
F AR, TAMfd F1 Hediwa Afyey F A a6l F F7 & YR W TR

w01 ¥ | Tfa e Frafa)

Capital employed by a firm is ¥ 1,00,000. Normal return of business
is expected at 10%. Average profit of last three years is ¥ 12,000.

According to partnership deed, goodwill is valued at two years'

purchase of super-profit. Calculate the value of goodwill.

fader . W W 13 Q 15 7% 9 3909 v ¥ | WQE e W 6 3w Fif@ ¥
AT U W Aiafew famea ¥

Instruction : Question Nos. 13 to 1§ are long answer type questions. Each question

carries 6 marks. Each question has an internal choice.

wv-13 'm'qﬁ‘a’wtﬁﬁﬁmﬁm%ﬁ‘q'aﬁﬂﬁwwm
= gera 131 faaar, 2016 T 37 fage Frafafaa ®

fagar
(31 fegmr, 2016)

A af¥r raferat i

(T) (%)
TR 10,000 | A% A 2,000
24 faq 8,000 | 27aR 7,000
E™— (D) &Y 3,600
‘A 6,000 e 400
‘"’ 4,000 10,000 |waH 15,000
28,000 28,000

NM-43B
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wETErT ;g ¥ i g Prefoan e Y ST ¥
() a1 qed €250 @ R )

(ii) fery o 9 2 300 1 WEUE fba AT E |

(i) ¥ 600 fafrarm goin 31

(iv) 1 TR " T 4,000 $eft § € 3,000 WA & Ferw A

ST G & AR R A G T |

A and B are equal partners in a firm. They admitted C as a new partner.

(6]

Their Balance Sheet on 31st December, 2016 is as follows :

Balance Sheet
(as on 31st December, 2016)

Liabilities A';“;)'"t Assets A‘E‘;‘;"‘
Creditors 10,000 [ Cash Balance 2,000
Bills Payable 8,000 | Debtors 7,000
Capital- () Stock 3,600

A 6,000 Fumiture 400

B 4,000 10,000 | Plant 15,000

28,000 28,000

The following adjustments are to be made before C's admission—
() Furniture's value ¥ 250.

(i{) The provision of undisclosed ¥ 300 on debtors.

(iif) Investment T 600.

(iv) Newly admitted partner C brought ¥ 4,000 for capital and
T 3,000 for goodwill.

On the basis of above information prepare Revaluation A/c.

—

NM-43B



[7]
HIET 7/ OR
‘o' AR ‘T’ wE wH H WgeR ¥ W 3:2 ¥ orqum F env-wify @fed €
ERJE M D % YT ¥ foe gEEr /9@ ‘|’ T 30,000 ¥ % fae |
YA YT & FE B T 16,000 & A T 10,000 76 11 & | STEAEH
it wfafeeal Sifea
A and B are partners sharing profit and loss in the ratio of 3:2. They

admit C for % for share. C paid ¥ 30,000 for capital and ¥ 10,000 out

of his share of goodwill ¥ 16,000. Pass necessary Journal Entries.

| uv-14 ':ﬂ’m'a'wmﬂﬂ‘a@mtl?}m—mﬁanﬂsaﬁmﬁaﬁ%l
31 feasar, 2018 # 37 faga1 Frfafaa ¥

faear
(31 fgww, 2018)
¥t raforat ofn
i (%) (%)
ATER 45,000 | TR 20,000
A i 20,000 | fafay wafaat 70,000
IS — )
‘ay’ 10,000
‘«' 15,000 | 25,000
90,000 90,000

w fufu =1 o &1 frges gam) dven @ 215,000 wd fafay wwfa @
% 60,000 =T §U | A @ 9wy | (6]

NM-43B p—
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[8]
4 and B are partners in a firm, sharing profits and losses in the

ratio of 3:1. Their Balance Sheet on 31st December, 2018 stood as
follows :

Balance Sheet
(as on 31st December, 2018)

” mount
Liabilities AT;';M Assets A (%)
Creditors 45,000 | Debtors 20,000
A's Loan 20,000 | Sundry Assets 70,000
Capital- (%)
A 10,000
B 15,000 25,000
90,000 90,000

They decided to dissolve the firm on that date. Debtors realized
¥ 15,000 and Sundry Assets realized ¥ 60,000. Prepare Realization A/c.

HET / OR

mﬁmm%mﬁ%wvwﬁ%ﬂwﬁ&aﬁaﬁm:
On the basis of deals of the above question, pass necessary
Journal Entries.

TH FEA A T 100 T 2000, 5% FO9F Foifa frn 2 10 A& W,
¥ 40 WA R AW Yo g A A qr g ¥ 1 G TR T 2 1 | ey
& JR! # e v wfafedt wifm

A company issued 2000, 5% debentures of ¥ 100 each. Amounts are

(6]

payable ¥ 10 on application, ¥ 40 on allotment and the balance on

first and final call. All the amounts were duly received. Pass nec essary
Journal Entries in the books of company.

NM_41D




(9]
3raar 7 OR

HTE 3¢ ferfiide 3 2 10 wf siw % 10000 3w S A i g,
fo T 4 s W, tsmmqﬁtauuﬂaﬂimmméﬂ
1R T s o | R @ g § ol fafeat Fte

Fine Art Ltd. issued to the public for subscription of 10000 shares
of ¥ 10 each, payable at T 4 on application, ¥ 3 on allotment and
2 3 on first and final call. All the moncy were duly received. Write

the Journal Entries in the books of company.

freer : wamia:wqﬁwzimmtwﬁmmmaaﬁﬁuﬁﬂahm

¥ W i faweq ¥
Instruction : Question Nos. 16 and 17 are numerical questions. Each questio

8 marks. Each question has an internal choice.

n carries

UF-16  TF S T2 100 AT 2000, S% Feorgd Frifira fFT1 T 10 AEAT T
4 tm%m,zzoqmmmmﬂﬁﬁnmm%ﬁﬁtm

uﬁrmﬂﬂmmﬂa’rwﬁﬁmﬁsﬁgﬁﬁzﬁﬁml [8]

A company issued 2000, 5% debentures of ¥ 100 each, amount
payable as ¥ 10 on application, Z 40 on allotment, ¥ 20 on first call
and the balance amount on final call. All the amounts were duly
received.

Pass the necessary Journal Entries in the books of company.

Nerar 7/ OR

x fefrrs 3 € 100 AR 10000 3 Frffir fFg | § W T 30 AT R,
¥ 40 3THEA W, T 10 WUW AT W @@ ¥ 20 Sifew AN WA A1 W
ol aur W ® T wEER B gt § snavas doi wfafed
FfoT

X Ltd. issued 10000 shares of T 100 each, payable as ¥ 30 on
application, 40 on allotment, ¥ 10 on first call and ¥ 20 on final
call. Assume that all the money were duly received. Pass necessary
Journal Entries in the books of company.

NM-43B
P.T.O.



110]

1 11

WA-17 ‘o T e 9 o e e ¥ s - i e 3736
ST ¥ fasfog w3 # 1 31 e, 2018 91 wd it fda feerfa famror

frefafaa .
fager
(31 fegmr, 2018)

e (w(R)| wefetfn(R)
N 19,000 | ¥ ¥ Az 2,500
Fafem 5,000 | TR 15,500
whem fafly 12,000 | 3iftm Tefem 25,000
AR T -

i 40,000 e 5000
!’ 30,000 - 000
| 25000 95,000

1,31,000 T3 000

(1) = @ 1 T T 18,000 T Wy
(ii) mﬁqﬂmw%mm@mw%mm%l

Wﬁmm}mm%m}” S
@l T

NM-43B

ARG 1 S, 2019 Yo A ¥ | oy et
FAE: N

(iif) mmmzo%ﬂaﬂtmmmﬁm%ﬁm%l

g’ mi;,ﬁ
(8]

\



[11]

A, B and i
1 nl (;fare partners in a firm, sharing profit and loss in the ratio
f— — .
0 2’3 Their Balance Sheet on 31 December, 2018 is as follows :
Balance Sheet
(31 December, 2018)

Liabilities A';‘;‘)'“‘ Assets A'E‘;‘)‘“‘
Creditors 19,000 | Cash at Bank 2,500
Bills Payable 5,000 | Debtors 15,500
Reserve Fund 12,000 | Closing Stock 25,000
Capital A/c— @) Motor Vehicle 8,000

A 40,000 Machinery 35,000

B 30,000 Building 45,000

C 25,000 95,000

1,31,000 1,31,000

B retired on 1st Jan., 2019. Following adjustments are to be made :
(/) Firm’s goodwill is valued at Rs. 18,000.

(if) Depreciate machinery at 10% and motor vehicle at 15%.

(iii) Stock value increased by 20% and building by 10%.

(iv) Bad debts reserve increased by ¥ 1,950.
Prepare Revaluation A/c and B’s Capital A/c to execute the above
adjustments.

a7 / OR

X, Y, Z R € fomem amv-fasem srquma 3: 2 1 131 fl=r 20109
X & @ JEaHN TeW w3 ¢ 1 39 e 1 ufin @ Fraior 220,000
e a1 7% fv=y fean T i 3@ wfy ad 3,000 =¥ 3f vsfa
A YA foa Smem a8 e v ad 3 1 sEd B e som

Wo® AR 9 Fi A gfa e g% AR amwme fF s ® R 6% i
aq ¥

NM-43B
P.T.O.



e

Instruction

U¥1-18

wi-19

12 ] |
l the ratio of3:2: 1. X retires

; tin
X, Y and Z are partners sharing prof he dctcrrnined amount of

LT .
from the firm on 31st Decembe, 2010. hould be paid by annuity
his share is T 20,000, It is agreed that this $1°

ing day and the
of T 3,000. The first payment to be paid on the following i
o . Prepare
subsequent payment on 1st January of each year. FT¢P

0 % per annum.
Suspense A/c for 4 years charging interest @ 6% P

wug-( 1) / Section-(B)
farvrg foreruit a1 fareraaT

(Analysis of Financial Statement)

. T T 18 T 19 e Iwta v § | TE W W1 3 P by

question carries | mark.
uE! faweq gf
Choose the correct option :
Te], I 1 e 'R
(30 4:1
(M 2:1
() 1:1
() 05:1

Ideal level of current ratio is :
(@ 4:1

(b) 2:1

() 1:1

(d)y 0.5:1

What is the Standard Ratio for current rat;gn

NM-43B

: Question Nos. 18 and 19 are very short answer type questions. Each

(1]

!
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(13]

fvr : W Wi
mmzoﬁzzwagmmt|mWW4aﬁﬁufﬁaﬁl
YA W Aidfts fameg &1

Instruction : i
Question Nos. 20 to 22 are short answer type questions. Each question

cam ; i i
rries 4 marks. Each question has an internal choice.

wA-20 U*3g YA faarw & wga # fad=g ifag (FE 90 |

Discuss the importance of cash flow statement (any four )-

A% yaTE faao @ @ fafae (Fi¢ ) |

3rerar / OR

Write the limitations of cash flow statement (any four).

(4]

uyt-21 ﬁﬂmﬂﬁﬁmﬂmmmﬂmaﬁﬁq: (4]
F 31-3-2018 31-3-2017
(%) (%)
-z faaT % SgER 99 54,750 27,000
=raifa wfaal 11,250 13,950
ke s 2 10,200 17,850
AT - 18,000
T:faa.aaq 14,000 12,000
s Faad 32,000 44,000
Calculate Cash Flows from operating activities with the help of the
following information :
, 31-3-2018 31-3-2017
Particulars
i ® ®
Balance in Statement of Profit and Loss 54,750 27,000
Trade Receivables 11,250 13,950
Outstanding Expenses 10,200 17,850
Patents - 18,000
Prepaid Expenses 14,000 12,000
Trade Payables 32,000 44,000
PlT.O.

NM-43B
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arerar / OR FfT ;
i.ﬁwgmmﬁm

4 2020 w4 2019
fraror (%) ()
3T =Y 3,000 1,000
e =2 2,000 2,500
15,000
ATer 13,000 ’

a¥ 2020 ¥ XA TV g T 25,000 "
From the following information, calculate Cash Flow from

operating activities :

Year 2020 | Year 2019
Particulars ® ®
Debtors 15,000 12,000
Outstanding Expenses 3,000 1,000
Prepaid Expenses 2,000 2,500
Creditors 13,000 15,000

Profit during the year 2020 is ¥ 25,000
T9T-22 mmaa@mﬁmﬁm :

9 Fo Hafd £ 1,00,000, TR Ay 2 60,000, ﬂ?—W‘:‘@a %20,000, -
1] Wt 2 50,000

4

From the following information, calculate Current Ratig -
Total Assets 2 1,00,000, Shareholder’s Fyng 3 60,000 N
Liabilities ¥ 20,000, Non-current Assets ¥ 50 B

000
STIaT / OR
Frefafen g @ e sqom = hliexce Hifsg .
aR] faea 250,000, ] Wt ¥80,000, wig; 4 25,00
YeERA=11 T 5,000, 37ER 2 30,000 0,
Calculate Liquid Ratio from the following j,,

Current Liabilities ¥ 50,000, Current Assetg

: 0
T 25,000, Prepaid Expenses 2 5,000, Debtors ¥ 3"300, Stock

;000
NM-43B \/

~current
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fder : W FUIw 23 O Il w &) v v W e i fvifa ¥
Instruction : Question No. 23 is long answer type question. It carrics 6 marks.
uya-23  facita faveel & stwai # auwmee (w8 ) | [1x6=6]
Discuss the objectives of Financial Analysis (any six).
Hvar 7 OR
Afaw favawo au waaq favewo § i @it (6]

Distinguish between Horizontal Analysis and Vertical Analysis.

wWus-( |) / Section-(C)
WYL AT
(Computer Accounting)
frdyr : mmﬁ1s@19mﬁgﬁﬂumt|mmm1aﬁﬂ?ﬁﬁﬁﬂti

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each
question carries | mark.

wyT-18  wE fasew g : [
Choose the correct option :
eyt &1 wan fear s ¥
(37 ¥FH () revare A
(%) =EEE A (3) IR o
Computer is used at :
(a) bank () hospital
(c) business (d) All of the above
wyA-19 Sl &l wiaren fhd wea ¥ 2 (1]
Which is called the brain of computer?
feder : UV A 20 | 22 7 oY ITGT weq ¥ | G@AF W W 4 ot AiRe €

Instruction : Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks.

WeT-20  TREAW T WRAW § 3idt wye #ifaw (W) | [1N4-4]

Distinguish between Hardware and Software (any four).

NM-43B
P.T.O.



[16)
3rgar/ OR
T e 3 S we FA (F W) |

Differentiate between Computer and Calculator (any fowr).
WA-21  FiEd Aaiwa yoneht ¥ A THHSY (FE wR) | (1x4=4]
Discuss the disadvantages of Computerized Accounting System (any four).

FqaT/ OR
AEiH ¥ FgR ) vifrw sy ) (4]

Write the role of computer in accounting.
WA-22  IREE F Savawa ey (i /) | [1x4=4]
Write the necessity of Database (any four).

3T/ OR
STTSH oY Woneht % wr fafag (@ @) |

Write the functions of Database Management System (any four).

Frdor t O I 23 T I T ¥ 1T A W6 3w Fruif ¥

Instruction : Question No. 23 is long answer type question. It carries 6 marks.

Write the characteristics of Electronic Spreadsheet (any six).
N7/ OR

ﬁ-ﬂaﬁmﬁmﬁ%a@mmwt(ﬁm)?

What are the main elements of Payroll Calculation (any six)?

NM-43B



